YKy, R

Ums: Jlata: _ Ouenka:
(75 + 3x + 3)(4x — 4) (6— 2x)(4x +7)
(6x + 8)(3x” + 2x + 2) 672 x—1)
(9 + 6x)(6x + 9) (7% + 3)(6x + 4)
o+ Tx+T)(5x + 7) (6% + 9x + 9)(3x — 6)
6+ 5 (8x — 3) 2+ (x—5)
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YKy, R

Nwms: Jara: Onenka:
(7% + 3x + 3)(4x — 4) (6 — 2x)(4x +7)
28x° — 162 — 12 —8x” + 10x + 42
(6x+ 8)(3x% + 2x + 2) 6— 7% (x— 1)
18x° + 36x% + 28x + 16 7+ T+ 6x— 6
(9 + 6x)(6x + 9) (7x% + 3)(6x + 4)
36x” + 108x + 81 A2 + 28%% + 18x+ 12
2 + Tx+ T)(5x + 7) (6x% + 9x + 9)(3x — 6)
5%° + 42x* + 84x + 49 1833 — 9% — 27x — 54
6+ 5 (8x — 3) 2+ (x—5)
40x> — 15x° + 48x — 18 X =57 +2x— 10
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